Suppose that w=4.8 and U =57°, SCORE: /6 PTS

fa] Find all values of # for which there are two possible triangles. Do NOT solve the triangles.
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Ib] Find ail values of % for which there are no possible triangles.
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[c] Find all values of # for which there is exactly one possible triangle. Do NOT solve the triangle.
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Find the areas of the following triangles. SCORE: /4 PTS
[a] AQRS it g=4.6,r=6.1and 5§=3.9
S= 7 (4bsblr38)=7%

b= 130712 -4.6)0032- 6VCI2-34) = 9.0

[b] ABCD ifb=26,¢=42,C=93 and D=59°

= —‘?:(_.2.4,)(,4.’2,)%@?"’ = 47




Solve the following triangles. Sketch and label triangles with vour final answers (don’t need to be to scale). SCORE: /12 PTS
If no such triangle exists, write “DNE” and explain briefly why. If more than one triangle is possible, solve for all possible triangles.
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Two cars are parked on a north-south road. A house sits off the side of the road. SCORE: /8 PTS

The house is 138 feet from the first car on a bearing of 314° .
The second car is 65 feet north of the first car. Find the distance and bearing of the house from the second car.
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